
Lesson 10c 

Make Irab to the following verb sentences and put the Tashkeel on its words: 

  :أ�رب ا���ل ا����
� ا����
� و
�ل ا�����ت

                                       

 زرع ا���ح ا�
�رة

  

 

The farmer planted the tree 

  
  

 زرع ا���ح 
�رة

  

 

The farmer planted a tree 

  

�رت؟نا�زرع ا���ح  

  

 

The farmer planted the trees
2 

  
 زرع ا���ح 
�رت؟ن

  

 

The farmer planted trees
2 

  
  زرع ا���ح ا�
�رات

  

 

The farmer planted the trees
3+ 

  
  زرع ا���ح 
�رات

  

 

The farmer planted trees
3+ 

 

 

 زرع ا���ح؟ن ا�
�رة

  

 

The farmers
2
 planted the tree 

  
  

 زرع ا���ح؟ن 
�رة

  

 

The farmers
2
 planted tree

 

  

�رةا�زرع ا���ح؟ن  

  

 

The farmers
3+

 planted the tree 

  
 زرع ا���ح؟ن 
�رة

  

 

The farmers
3+

 planted tree 

 

 

  زرع ا���ح؟ن ا�
�رت؟ن
  

 

The farmers
2
 planted the trees

2 

  
  

 زرع ا���ح؟ن ا�
�رت؟ن

  

 

The farmers
3+

 planted the trees
2 

 

 

  زرع ا���ح؟ن ا�
�رات
  

 

The farmers
2
 planted the trees

3+ 

  
  

 زرع ا���ح؟ن ا�
�رات

  

 

The farmers
3+

 planted the trees
3+ 

 


